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AREA OF STUDY 1: Functions and Graphs &AREA OF STUDY 2: Algebra

Topic 1: Polynomials

Question 1

The angle of inclination for the positive x-axis for the point ( \/§, 1)is

A. 45°
B. 60°
c. 30°
D. 90°
E. O°
Question 2

3 3
Which of the following is the expansion of (X2 +2)(x% —3) ?
3
A. X2-5x-6
3
B. X°—Xx2+6
3
3 2
c. X°—x?-6
3
D. X2—-X-6
3
E. X —5X2+6

Question 3

Which of the following 3

A (X

B. (X

c. (x

D. (x+3. .

E. (Xx+3.5)(x-1.5)€-

Question 4

if f (2) =0, then a factor of f (X) is
A. X+2

B. 2

c. -2

D. x—-2

E. O
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Question 5
The simplified form of 3<4X—-5<7 is
ESXSZ
4 4
B. 3<x<12
C. 8<x<12
D. 2<X<3
E. ZSXS1
2
Question 6
The solutions to X° +6X—4 =0 are
A. —3i$§
g, V13
c. 3+413
D. —6+413
E. 3J_r\—ﬁE
2
Question 7

What is the equation of the lin

A. Yy=2X
B. y=0.5x
C. y=-.5x
D. Yy=—
E. VY
Question

4
Which of the following lines igparallel to Y = —3X+ §

1
A ==X+3
y 3
1
B =—=X-2
y 3
c. y=3x+1
o, y=Lusd
3 3



